Monday, March 6

Lab2 Solution Walkthrough



Lab2 Solution: Context Celebrity_cO

CONTEXT Celebrity_c0 @= {Alan, Mark, Tom}
CONSTANTS ¢ = Tom
k knows relation = {(Alan, Mark), (Alan, Tom), (Mark, Tom)}
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Lab2 Solution: Machine Celebrity_1 &

MACHINE Celebrity_1
SEES Celebrity_cO
VARIABLES
r result of algorithm
Q Set of potential Ce

INVARIANTS
invli: reP
invariant from th
inv2: QCP
new invariant: ev
inv3: c€Q
new invariant: th
EVENTS
Initialisation
begin
actl: r:€ P
act2: Q:=P
end

Event celebrity (ordinary)

any
X
where
grdl: z€Q
grd2: Q= {z}
then
actl: r:=«x
end

Event remove_1 (ordinary) =

any

H
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then
actl

end

Event remove_2 (ordinary)

any

X
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grd5: (theorem) y #c |
Without this guard i
as well as Q <: P as

then
actl
end

1 Q:=Q\{y}
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¢ = Tom
k = {(Alan, Mark), (Alan, Tom), (Mark, Tom)}
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MACHINE Celebrity_1
SEES Celebrity_c0
VARIABLES
r result of algorithm
Q Set of potential Ce
INVARIANTS
invl: r € P
invariant from th
Qcp
new invariant: ev
ceR
new invariant: th
EVENTS
Initialisation
begin
actl: r:€ P

act2:= P
end

Event | celebrity/(ordinary) =

inv2:

inv3:

any

X
where

grdl: x €

grd2: @ 3@
then

actl: r ::@
end ‘ﬁv"

Event remove_l (ordinary) =

e P = {Alan, Mark, Tom}
x ¢ = Tom

cvite k = {(Alan, Mark), (Alan, Tom), (Mark, Tom)}
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grd4: (theorem) z # ¢
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grd5: (theorem) y # ¢
Without this guard i
as well as Q <: P as
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then
actt: Q:=Q\ {y}

end




